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1. The admission to the examination is
provisional. In the event of any information
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furnished by the candidate found false/

incorrect/incomplete detected at any

stage, the candidature shall be rejected.
2. Darken the circles in the OMR sheet

& SRS, UQG? i QQI/QIQ "R e completely with Black/Blue ball point pen
@A QI IS GEa IWI/MR AQIG 629 | only. Partial darkening shall not be
21°50 99 FRITINAEA SI2I6 FRYIES 629 RIT | evaluated.

= = e 3. Darkening two or more circles completely

3. 996 @Al 2R 99 And/2I8e 8R)/F19 soeiully B Y y/

~RQIDIQYUEA SR A RIIAR 21T | 4. Changing the darkened circle in any

4. GRI/91P SAIDINAS 98 ‘X’ SRQIAI/FE19E A8/ manner putting ‘x” mark/using white

fluid/erasing by rubber/blade etc. shall not
be evaluated.

5. This question booklet shall not be opened
until instructed. Write your Roll No.
correctly in this booklet as well as in the
OMR answer-sheet.

6. The candidate should check the No. of
Printed Pages.and Questions along with
their Serial Nos. In case of any discrepancy
found, exchange the defective one and
collect another correct one from the
invigilator within 5 (five) minutes and
thereafter no complaint shall be
entertained.

7. The examination shall be conducted as per
the Odisha Conduct of Examination Act,
1988.
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Each question has four possible answers. Choose the correct answer from among them and
darken the appropriate circle completely in the OMR Sheet with Blue / Black ball point pen.
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(CHILD DEVELOPMENT & PEDAGOGY

6RUE QP90 JNEa 1@ ANy Qe ?
(A) F8a 8 J6a9 QoI gRIde 629
(B) 626o@ da1gh Fea g 3910 08
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QA
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Which of the following is not a demerit

of group learning ?

(A) Being influenced by a certain
individual

(B) Some students exhibit their
dominance

(C) Not completing a task in an
appropriate manner

(D) Many students don’t get the

opportunity to utilize enough time

T h Qf Id I in an activity
60Re QAINISR QJ"GOQG‘ WQJI‘ 5 [‘\lich one of the following is not a major

Qg@ ? concept of social constructivism ?
(A) <lIgee! (A) Reality

(B) =9 (B) Knowledge

(C) a4 (C) I_earning

\(wgamuq 6adc geg

Cooe 21606941 FMIROR 6T U6 7

(A) Gaaq dRAIes gie aedl 6441
6RI00a iedl

(B) @@AIRE, aifey aa6q 4L,

@audiael

MQ QoReIq 2R 4aQ a1
(D) @ Galea delqel qeeIdIal
cRIRaIG

(D) None of these

Which of the following is a characteristic

of inclusive school ?

(A) Arrangement of separate classroom
for differently abled students.

(B) Students are imparted as per their
capability.

(C) Weakness of students is given
special attention.

(D) Parents are an integral part of

learning process.
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(A) Qe
(B) 6999
(C) QIEORR

ANZe 94l AN6a RIe1D FSIME (1986)
60 2’6 QUIGE QAUAIRARNI ?
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FE ' L:J
Who has written the book, “Theory of
Motivation” in which he has given 24
theories of motivation ?
(A) K.B. Madson
(B) Atkinson
(C) H.W. Bernard
(D) D.O. Hebb

“Learning is a change in behaviour due
to punishment and reinforcement”- Who
said it ?

(A) Skinner

(B) Gates

(C) Cavellin

(D) Limball

What was the recommendation made by
the National Education Policy (1986) in
relation to Integrated Education ?

(A) Students, who need different
learning technique and
requirement, will learn together.

(B) Regular class teachers will take
responsibility for teaching.

(C) Less and moderately differently
abled students will receive
education in regular/normal
schools.

(D) Special schools for differently abled
students.

At what age, in a child does emotion, like

curiosity and shyness develop ?

(A) 20 gy S
od (B) 5yrs.
(©) 12 od (€) 12 yrs.
Rl B
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If a learner, not interested in Mathematics,

is forced to study the subject, then the

learning is not fruitful. This is explained

by which law of Thorndike ?

(A) Laws of exercise

(B) Laws of readiness

(C) Laws of effect

(D) Doesn’t belong to any law of
Thorndike

In tribal areas, which is a function

organised by Srujan to provide an

opportunity to students to let go of fear

and express themselves freely ?

(A) Oral literature collection

(B) Preparation of bilingual teaching
aids

(C) Story telling festival

(D) Song and dance festival

In our state, under multilingual education

programme, books have not been

published in which of the following
languages ?

(A) Kisan

(B) Koya

(C) Bhatudi

(D) Oram

“Law of Readiness” of Thorndike is also
known as :

(A) Law of motivation

(B) Law of exercise

(C) Law of use

(D) Law of disuse
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p i P A ! & .
LI ALY NeU0A 99 @9 ? 12. Whois the creator of operant conditioning ?
(A) <e&al (A) Rousseau
(B) w.4Q. R (B) A.S. Neil
G 8@ ana (C) B.F. Skinner
(D) @.Q.60% (D) P.C. Wren
13. 6QRC AAURNNR 99 96 R Q6L ? 13. Which of the following is not a rule for
preparing completion type of questions ?
(A) Q4 a_@@ gar NGER FRIAR QYS! (A) Blanks should not be kept in the
Qow Qe beginning of a sentence oOr
statement.
(B) - 69154 9g6a 920¢F9 4R4aIR (B) There can be multiple blanks in a
Q2 single question.
(©) 2RRQ 22 gld Qqael QY MNLe (C) A sentence having ambiguity in
62Q Q12 meaning should not be used.
(D) _g496Q 998 §a1a19geea caely Qe (D) The length of blanks in the question
= Qi%ane 6@9|_ia_§a h f must be nearly.
14. QY9Q QaUEQ AR UUAR IR 2IF] geuaa 14. Who gave importance to self realisation
PRI QU6 @4 99Q IR Qagem ? as a medium for further research on
personality development ?
(A) aR6aIS (A) Allport
Wq (B) RagOI'S
(D) @@ (D) Chadha
15. 6@We d9a NIYY gaee eqle QAR 15. Which is not an element of influencing
'916‘5 ? the personality of a child ?
(A) @°896 (A) Heredity
(B) 9062401 (B) Environment
(€) Qe (C) Health
W (D) School

WtsApp/Call- 8596976190


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

16. 6006 QUORNGR A8 FaeId q6% ?
(A) 936cqua Faes Qeals 98
(B) daig gq 218 aeIq aaIRe (sTATa]
@/a@a. JIee QoI FaAe 699
(D) QAQY QARIS GFE] QALY ARl
QU6Q 9RQ 6T KGQ
17. @@l 449 8768 1958-59 6a €06 RIS
efde eIn @'a ?
(A) 6RI0IQ1 K
(B) qeIRue «fd
(C) QEIRIR 62d¢¢ @FF
(D) QurIge A
18. QRIS AAINS QIR AYFAA - 1995 6a @'
MR YIRS ?
(A) @@ od adie Al dal
(B) g€l RIFINE QIR JIOIRAER
6RO 601G QAR 4
(C) ?Fafie aagie AR 21Ige 691A19R e
(D) 99§e aug 6Nad Q6w
19. da 2L 2AYFAA-2009 @ 60Q Al
QIR 6w16d d4gQ A0ee @8 @ AIede
adieq! duIQIR Qge QI ?
(A) QI 14(2)
B) el 17(1
B (1)
(C) 19 24(1-A)
(D) QI 29(2)

n

16.

17

18.

19.
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Which of the following is not an

educational implication of

constructivism ?

(A) Creating scope for self analysis

(B) Inspire child to frame questions

(C) Learning to be controlled by
teachers

(D) Giving importance to realistic

approach for problem solving

What is the name of the committee
established in 1958-59 pertaining to

women education ?

(A) Kothari Committee

(B) Mudaliar Committee

(C) Durga Bai Deshmukh Committee
(D) Radhakrishna Committee

Which of the following is a provision

under Persons with Disabilities

Act - 1995 ?

(A) Free education till 14 yrs. of age.

(B) Provision of only one language in
the curriculum for hearing impaired
children.

(C) Provision of financial assistance for
regular attendance.

(D) None of the above.

According to which article of RTE-2009,

any form of physical mental

or
punishment cannot be administered to a

child ?

(A) Article 14(2)
(B) Article 17(1)
(C) Article 24(1-A)
(D) Article 29(2)
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W aa

(B) 29761 dal
(C) Qoa dal
(D) QRIQE &8sl

A998 agIQIe daie 5068 o a8d6a
JAINEQ AR AT ?

(A) eAlge aad
_(B) Q19| aad

(C) 98 a8

(D) 28ea 986

“Fa6 99 Iege 991Nl §A68
266gQdl @ 69219 QAIQIR | AN 9RIR
§g66q 6a6oe 9eIe aAGedada Fde
QIeea SuAIe A9 ade, I’ 1@ adte
@9 Qe ?

_(A)_pueBeaR

(B) €@
(C) @sa
(D) GReaIe

(United Nations Convention on the Right
of Child) UNCRC 2g@I&1 QRIS
gieda 891 ¢e 6a¢ ANRIQ UFEYS ?

(A) QEQIQ AR
(B) QRIEQ AR
(C) oI RIS
\ (D) 28998 REQIQ ANRIR

Techofworld.

20.

< |

23.

In which system, regular teachers and
resourceful teachers take responsibility for

education of differently abled students ?
(A) Integrated education

(B) Inclusive education

(C) Special education

(D) General education

Students suffering from cerebral palsy

requires which teaching method ?
(A) Oral method
(B) Play way method
(C) Project method
) Role play method

(D
In

“Motivation is the central factor in the
effective management of the process of
learning. Some type of motivation must
be present in all learning”. Who said

this ?

(A) Atkinson
(B) Kelly

(C) Skinner
(D) Guilford

According to UNCRC, compulsory
elementary education comes under which
right of a child ?

(A) Right to live

(B) Right of development
(C) Right to safety

(D) Right of participation
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(A) Q9 faa
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(C) ge g
(D) aQifIRyel Faa
P66 QA7 99 26.
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Which of the following statement is not

true about development ?

(A) Development proceeds more
rapidly in early years of life.

(B) Development occurs at different
rates for different parts of the body.

(C) Development is caused by heredity
alone.

(D) Development follows an orderly

sequence.

orld.In

Which of the follbwing is not a law of

heredity as propounded by Mandel ?
(A)
(B)
(©)

Like begets like

Law of variation
Law of regression
Law of unusualness

(D)

A good teacher is to :

(A) provide knowledge and prepare the
students for examination.

(B) prepare the students for right
answers to be written in
examination.

(C) provide authentic learning
situations and facilitate
independent thinking among the
students.

(D) follow the time table and course

strictly.
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27. Q1D AIONGA ARK-2005 @ AIGRd 918
QRUEA 6QRG ANFe ?

(A) TAIER Fe OT6R RIF 21906 @8
g
(B) 6R18Q1 QIR 986 MDA 6RIQAIN

(C) d9eg gy a8l QoI dal 2ye dgaisa
L

(D) QaQyl QARILALSR 4L Al BRI
UILAEER AR 29

Techo

28. AVE O1Q FFRFNER 6ANRER VAR
QR0e QIFIensa Afia @E8IQ aalasd
62T | 6QAUEH AIRIAY SRAIAT :

(A) <R

(B) &gl
(C) Qequidy

Mm@ag \

29. QO° QRIS AIOIYIR AL QIQ GRININE

QE0! 28 REQI-69% JRINa RIIAR ?

\ (A)—eEaIR

(B) €ORPS 1
(C) @RI
(D) QAI99eR

30. 6ee0 486 QIdia gaIee 2YS 6% ?

(A)  2IRRVIAI

~ (B) QeI gde
(C) RGN
(D) <QRE 6Rae QIR g6aIs 93

28.

29.

30.

27.

Which of the following is related to the
principles under NCF-2005 ?

(A) Students acquire knowledge in their
own way.
(B) Rote learning results in longer

retention.

(C) Student unable *

asking questior

‘tter by
9/38
(D) Problem solving approacn helps in
acquiring knowledge.

fworld.In

Teachers are advised to involve their
students in group activities because,

besides learning they help in:
(A) Conflict

(B) Jealousy

(C) Aggression

(D) Socialisation

Knowing the ability of children to study
a new English language textbook comes
under which type of evaluation ?

(A) Placement
(B) Formative
(C) Diagnostic
(D) Summative

Which of the following is not a
characteristic of learning activity ?

(A) Joyful

(B) Demonstration by teachers
(©) Challeng'mg
(

D) Opportunity for multiple skill
development

——————
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2iesrl FIEAILY QAR1E 62IQAIRIR RNE
@8 ?

(A) <98 day 6 AAAIg cRINARIQ
yﬂ aeng 9% aQaelg
(C)- 21 6967160 G2 QLRI BIF 6Ig

(D) QoY Q2RI

33. QIR 0QQ R /'@ ?

(A) 9G8R BIR G AR SAIGe afgela

A it =
Qo ASY AR .1

(B) QIR QNG 0B 210 ZINIAL aanal
(C) " uf AR qIE gas FQFRE

(D) Qaq §f14 6 AT 9986 AIg
REQRE 2T

adql | @g 1 S8R QIFR Zouoe 088 ?
__________-:-'-—-——
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(L-ENGLISH )

When 1
Chess.
(A) see
(B) _saw
) have seen
(D) had seen

him, he was playing

Hemant could not reach the station in
time owing to g

(A) heavy traffics

(B}~ heavy traffic

C) lots of traffics

(D) much traffics

Which of the following is correctly

punctuated ?

(A) He said to me be prepared for the
worst.

(B) He said to me “Be prepared for the
worst.”

(C) He said to me, “be prepared for the
worst.”

(D) He said to me, Be prepared for the
worst.

Our Constitution recommends English as

EA) a compulsory subject in education
(B) a language of admission

L_(Q/massociate official language

(D) a lingua franca

Formative assessment does not help in

(A) identifying the learner's weaknesses
in learning.

(B) providing opportunity to the
learners to improve their work after
getting feedback. .

(C) enabling teachers to modify
teaching-learning strategies.

(D) enabling learners to secure good

arks.

66. The detailed and careful technique of
reading a text is known as ____
(A) skimming
(B) scanning
chnsiw reading

(D) extensive reading

67. She avoids
&to go
(B) go
(C) going

(D) to going

echofworld.In....

there.

in

(A) veloping free writing skills

(B) evaluating the listening skills

(C improving fluency of learners

inﬂg controlled language practice

69. The categorywise action verbs list was
developed by

(A) B.S. Bloom
(B) RCEM approach
(C) Robert Mager

(D) Robert Miller

70. They have been studying

¢ (A) hard all day at home
(B) all day hard at home
(C) _at home hard all day

(D) hard at home all dav
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71.  Learning English in India is important

because

(A) it is taught in all English Medium
schools.

(B) it is the language of our powerful
colonizers.

(C) itis a foreign language. \

(D) it is a link language in a

k/multi-lingua[ country.

72. Hema told me story.

(A) a fantastic ghost incredible
)%antastic incredible ghost
_~ . .
_ ﬂg/ an incredible fantastic ghost
(D) an incredible ghost fantastic

73. Continuous comprehensive evaluation
emphasises

(A) product evaluation

WtsApp/Call- 8596976190

a bike,
76. Neither of the boys

(A) has got

(B) was got

(C) have got

(D) has been got

> one-rupee note,
77. He gave me

(A) an

(B) a
_(—(-;) the

(D) many

78. He has been ill Monday last.

(A) to
(B) _since
(€ in

(D) for

(B) ocess evaluation
e - Techofworld.In

(D) summative

74. When a part of the word is spoken
emphatically, it is called

(A) pause
(B) intonation

Mess

(D) pronunciation

When, in a specific situation, rules are
applied, we call the method

(A) deductive

-4

(C) inductive

incidental
(D) correlative

80. Th-ere should be 3 ‘word bank’ in every
primary school becayse jt helps build-up

75. He was ashamed NPT
misbehaviour., — —_—
(A) with (A) conception .
(B) for \_@,.ueeabulary
SO () writing skill
(D) in (D) reading readiness

e —
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Read the passage carefully and answer the

quustit‘ﬂﬁ (No. 81 to 85) that follow choosing
the correct alternatives given :

The bulk of our population is poor and
illiterate. Adult education poses a lot of
problems. On the one hand, there is shortage
of teachers for adult education and on the other
hand, the adults feel shy of starting to learn at
a late age. Moreover, as most of the villagers
are farmers and the job of a farmer is very
strenuous, an adult villager has little time to
spare for attending classes. In addition, he finds
that what is taught at adult centers of education
has no bearing on his daily needs. Therefore,
he is not interested in it. It is necessary to make
adult education more meaningful for farmers
in the villages. It should be made useful and
work-based to arouse the interest of the adult
villagers. The teachers should adopt a system
of education in which earning and learning go
together. Efforts to enhance adult education
will ultimately discourage the need to migrate
to towns for better earning.

81. What poses a problem for adult

education ?

(A) Mliteracy

(B) Poverty

(C) Shortage of teachers

(D) Village environment

82. How is the job of a farmer ?
(A) Pleasant
(B) Strenuous
(C) Delightful

(D) Easy

83. What do the village people find about the
education given at the adult centers ?

(A) The education is costly
(B) Learning is difficult
(C) Learning is not interesting

(D) The education has no bearing on
their daily needs

Techofworld.In

84. How can adult education be made more
meaningful for farmers ?

(A) Itshould be useful and work-based.
(B) It should be cheap.
(C) It should not be strenuous.

(D) It should be enjoyable.

85. The word 'bearing' in the passage is

(A) an adjective
(B) an adverb
(C) anoun

(D) averb
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Read the passage carefully and answer the
questions (No. 86 to 90) that follow choosing

the correct alternatives given :

Yet another great defect of our civilization
is that it does not know what to do with ils
knowledge. Science, as we have seen, has given
us powers fit for Gods, yet we use them like

small children.

For example, we do not know how to
manage our machines. Machines, as | have
already explained, were made to be man’s
servants; vet he has grown so dependent on
them that they are in a fair way to become his
masters. Already most men spend most of their
lives looking after and waiting upon machines.
And the machines are very stern masters. They
must be fed with coal, and given petrol to drink,
and oil to wash with and must be kept at the
right temperature. And if they do not get their
meals when they expect them, they grow sulky
and refuse to work, or burst with rage, and blow
up, and spread ruin and destruction all around
them. So we have to wait upon them very
attentively and do all that we can to keep them
in a good temper. Already we find it difficult
either to work or play without the machines,
and a time may come when they will rule us
together, just as we rule the animals.

86. does not know what to do
with its knowledge.

(A) Science \
(B) Man
(C) Machine

r ( D)/ Our Civilization

WtsApp/Call- 8596976190

es, according to the writer, are

"he machine § 2
ok ' I‘lr way to become man s masters
in a la b

because of his

too much dependence on them

(A)-

(B) knowledge with which he manages
.\ machines

(C) faith in the powers of the machines
(D) too little dependence on them

)
88. Machines mustbe given ____ to
wash with.
(A) petrol
(B) coal

R

(D) right temperature

Techofworld.In

89. According to the writer the machines
must get their meals when they
them.

(A) demand

Mect

(C) want \

(D) usually get

90. “Blow up’ in the passage means

———

Mesboy

(B) tolose temper

(C) to warn

(D)

to stop bllrm'ng
—-—-__—--_
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91.

92.

93.

(986 / MATHEMATICS)

360 Q 6€1IS' GOAMAR A°EYI 6Q6E 7

(A) 20
(B) 22
(C) 24
(D) 26

C8io6Q 98 goUIar ARSI IR 699 O8e8
AR YQUAIRZT ?

(A) zisqi@
(B) aUQEL
(C) Q6gud
(D) Q6§a4

60T 2IPRIRIQ TR APl 79 A |
Q210 PIRTISER Q1P 6991 QIR Ace] T6
2QI96Q T 2244 ¢IF 24 | RTQITR VTR
ER6Q 7

(A) 8453 m?
(B) 8325 m?

Msz m?

(D) 8345 m?

91.

92.

Techofworlﬁa.ln

93.

What will be the total number of factors
of 360 ?

(A) 20
(B) 22
(C) 24

(D) 26

Which method is adopted to establish
formula in Mathematics ?

(A) Induction
(B) Deduction
(C) Analysis

Synthesis

A rectangular garden is 79 m wide. It
costs T 2244 to fence it at ¥ 6 per meter.
What is the area of this garden ?

(A) 8453 m2
(B) 8325 m2
(C) 8532 m2

(D) 8345 m?
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Ad 321424 , 4 QIO AU 24, 6669 ‘a’
Q QAIY FAY A°3Y| EREE 629 7

699 FQON AIQ 2,3,4,5,6 8 7 QIal
RS FER, NGCHT QAIFEA 1,2,3,4,5 G
0 (ge) 629 ?

(A) 419
(B) 278
(C) 119
(D) 121

94,

95.

WtsApp/Call- 8596976190

If 321424 is a number divisible by 4
without leaving any remainder then the
number of possible values of a is :

(A) 3

(B) 4

© 5

(D) 6

What is the smallest number which when
divided by 2, 3, 4, 5, 6 and 7 leaving
remainder 1, 2, 3, 4, 5 and 0 (zero)
respectively ?
(A) 419
(B) 278
(C) 119

121

Techofworld In

celIe GRaea giea e41d 1 & 12 6Qd 4
Qeel 2 §. 626/, 9210 YU VAR
6Q60 ?

(A) 3.95 m?
(B) 7.04 m?
(C) 1.97 m?
(D) 8.02 m?2

The diameter of the base and height of a

cylinder are 1 m 12 ¢cm and 2 m

respectively. What is its curved surface
Area ?

(A) 3.95 m2
(B) 7.04 m2
(C) 1.97 m2
(D) 8.02 m2
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B

g

R 986Q AB Qaa <uIa ¢26a ¥ @ Y
da e |

(A) 40°

(B) 50°

(C) 60°

(D) 80°

1,4,2,8,6,24,22,8, .,  @adg
QEIFFER UV FMUAINER 620 QNG QY|
QLem QAG OR 629 ?

(A) 84, 258

(B) 86, 264

(D) 34

Techofwor

6006 AEoR 6399 956 96a Q1P ?

QS RIS
ORFR@ 43990 IRIP
2119061010 @8IR

(A)

(B)
(©)

(D) o€ IRIQ

97.

98.

i
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281 ~ | A |

c

40°

In the given figure, if AB is the diameter

of the circle, find the value of x.
(A) 40°
(B) 50°
(C) 60°
(D) 80°

1,4, 2,8,6, 24, 22, 88,

In the given sequence of numbers, what

will be the next two values ?
(A) 84, 258

(B) 86, 264

(C) 84, 336

(D) 86, 344

In

Which one does not signify the features
of Mathematics ?

Science of Magnitude

B)  Science of Logical Reasoning
Science of Behaviour

Science of Calcula tion
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100. QR gIgh 9L AIeRER oGRS F026R |
Aea1 gigh 60% 6RIC' QIR 78 EQ ERITER
SR 6267 | IQ 85 ¢19 6916 PINS CRREIN,
6669 6FITER 6R6E 18 CRIC' CRIRAAI ?

(A) 562
(B) 482
(C) 475
(D) 745

101. 69T QEA QEgRQ 95QN 2| Qe
6R66 ?

(A) 4
B) 5
€ 6
(D)

7Techofwor|d.

102. 69189 SRR 69x dygea TR
dIfee 2RYIARQ dal A2 96se
cRAN2I2B ?

(A) QCANIRIOS
(B) QIR A°QILy

O~ 8R awidy

(D) @aIge Iy

100.

101.

In

102.

Two candidates contested for a post in
an election. The winner secured 60% of
votes and won by 78 votes. If 85 votes
ared invalid, then what was the

were decl
number of polling ?
(A) 562
(B) 482
(C) 475

(D) 745

How many lines of symmetry are there

in a regular pentagon ?
(A) 4
(B) 5
C) 6
(D) 7

In which period of cognitive development,
children acquainted with Mathematical
conversation ?

(A) Sensory motor
(B) Pre-operation _
(C) Concrete Operation

(D) Formal operation
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PQRS 9Q8e9, P,Q, R B S ¢alg a8
3:7:6:4 QQI06Q 98, 60969 -

(A) PS||QR
(B) PQJISR
(€) PR||QS
(D) PQJQR

FARYe I 6966 adie daiies Haa
QEQFY Y9 RGN AIQ 9@ QYA
QUAI9Q Q6L ?

(A) gNIRBIF gL
(B) 6§41 IQUARQE
(C) 956 a9
(D) Q€<

Techofwo

601G QEQ 1—2 2,8 994 ARl | 6286R

12 fce 9If 0& @del asa Rada -i— &°d
dim Q@RI | 6669 622 9aF A4 SRS
6Q6R  6QY6RQ  6R6E @9
QEAIAR ?
A) 36 @.
B) 42 Q.
(C) 48 Q.
(D) 54 @.

103.

104.

(D)
rid.In

105.
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—
If angles P, Q, R and S of the quadrilateral
PQRS taken in the
ratio3 : 7 : 6 : 4, then ___

(A) PS||QR
(B) PQJ|SR
(C) PR|QS
(D) PQ|IQR

in order, are

Which one of the following is not linked
with aims of teaching Mathematics ?

(A) Recognise

(B) Classify

(C) Infer
Understanding

A
23/ 38 v
7

A tank was 12

th part filled with wate.

1
On adding 12 I of water to it, gth of the

space was till left emptv. What is the total -

quantity of water required to fill up the
tank when its empty ?

(A) 36 lit.
(B) 42 lit.
(C) 48 lit.
(D) 54 lit.
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QaIgen 12 A., 96. 8 8 . | ¥RIQ QI
3 8. o1 Q12338 696018 ANARNER AGEe
SUAIQAIAS ?

I

(A) 32

o
e o}

(B)

(C) 24

Techofw

6911 6EIRRIQ 12% AN TF AR |
6EREIT] T 240 YR QAR §G
RAUAINYER, 15% AN 6ANAB| | 6669
ESPEITR € QUF 6260 ?

(A) %114
(B) Z80

(C) T 90

(D) T 75
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106. A metallic cuboid has length 12 m,

breadth 9 m and height 8 m. How many

cubes of edge 3 m can be cut out of it ?

(A) 32
(B) 28
(C) 24

(D) 48

orld.In

107. A toy was sold for a profit of 12%. If it

was sold for T 2.40 more than it was sold
for, then profit would have been 15%.
What is the cost price of the toy ?

(A) T 114

(B) ¥ 80

(€) T 90

(D) %75
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108. QIEEAIE QRER 661G QE6R 621081 219 | 108. The paddy produce of 5 blocks are

QIR Boesa gade | QRYFeR FINg depicted as A, B, C, D, E in the given
A,B,C,D,E §69 F2IQI08 | E 9@ 2604 pie chart. If the produce of E is 40 quintal
C 980 QU199 40 QR 2R ERINEM, more than C, then what is the total
A QR AYIOR EREQ ? produce of A ?

Techofworld.In

(A) 672 QaIR (A) 672 quintal
(B) 824 Q4In (B) 824 quintal
(C) 762 QEIR (C) 762 quintal
(D) 912 QaIR (D) 912 quintal
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109. D 109, D
108° A 108°
\
B fo—it C B
899 ABC 68 ZDAC 4@ G234 6916l | 9@ In given AABC, ZDAC is the exterior
AB=AE 8 AE=EC ©4, ZABE Q 9&¢1i¢ angle. If AB=AE and AE=EC,
e@ee 7 calculate ZABE :
(A) 18° (A) 18°
(B) 36° (B) 36°
(C) 48° (C) 48°
(D) 72°

Techof oﬂdin

110. 594 609 986ra AT (3 5 F&6a | 110. Which of the following rational numbers

9
e . 7 6
2199 ? lies between 9 and Z 7
3 3
(A) 7 (A) 3
.38 15
® . 12 B 16
12 12
— C e
v 1B 13
v (D) D) 5
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e e GQ@CEHQaOQ e, ﬁa“ Rl 111. “Abstraction is the strength of
e T KA e O Mathematics, but it will be useful if it
Uadoq Ueys a6’ - adt Qe ? involves maximum number of specific

situations.” - Who said it ?

(A) J. Piaget

(B) Lipman Bers

(C) Hilbert

(D) James Jeans

(A) 69. Guiee
(B) QAR 20
(C) 8¢

(D) 6997Q §7Q

112. 0272 + 0.1363 @ MY 6Q6Q ? 112. What is the sum of 0.272 + 0.1363 ?

2 3

A) 3 (A) 5
41 £

® 100 Bl o

» i 9

© 2 € 3

D 2 )

D) 3

echofworld.ir

113. 849 ARG 6960 I ARGNFE 9N 63T | 113. Which of~the following is the

aqUeS 7 characteristic of open ended questions ?
(A) fde @8 YUY dalidia @98 (A) Unavailability of specific answer
el gedicl Qigg 241 impairs a student’s ability to reach
a conctusion.
(B) Faieha q@ﬁ‘él@@l 3 58 fAQ @Fe! (B) It improves the creativity and
aal6 @aaid | thinking capacity of a student.
(@) Fqigha 2199919 efQIReN | ) (C) Itreduces student’s self-confidence.
(D) dsighaanay aelF 286! QAARER (D) It is impossible to evaluate the
ey fRaiaaend | problem solving competency of a
student.
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114. 69159 Q€l, g6 1 QLR 15 FFe Ang

115.

(D) 5

S 696 | 9G 3:00 pm 696% AGIQ
@9Igeq OR Q04 69¢IQQ R TaIAIFEa
e PN, 6669 6QAR QIR 8:00 pm
6291 699] J9C AN 6R6E 6RIRYYQ ?

(A) 7 pm
(B) 6:45 pm
(C) 9:15 pm

(D) 7:30 pm

400 6a—>5

F

H 10a+5 G
D

@R 5g6Q AB||HG 626/, a @ FIIQ 6266 ?

(A) 15
(B) 2.5

C) 7.5

WtsApp/Call- 8596976190

114. A clock shows 15 minutes extra time per

hour. If it is set at accurate value at
3:00 pm, what will be the actual time

when this clock shows 8:00 pm ?

(A) 7 pm
(B) 6:45 pm
(C) 915 pm

(D) 7:30 pm

Techofwarld.In

200 ba—>5

10a+5
H
D G

In the given figure, AB|[HG. What is the
value of a ?

(A) 15

(B) 2.5
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116. 68AE QNS gge Gda ¢

. P99 Aug 69a6 qdie daldl AR e

PR
6T ?
(A) SIEOR QORI B Q9] F9¢ e
(B) SIEIOS ANQU QAR QI Fos aad

JdeI9x! Q@89

qIEoe d819gdq Q1B Qde

(D) QISR 2NRe B ISYIASY QIS

Techofwi

ARIRS TGN Q6L ?

116. Which is the ﬁ]"'t'i“" behaviour ol

?
understanding based questions :

_l'bi(lt}]"fr‘dti('d]

(A) Identifying
definitions and formula.

(B) Propose alternate methods for
solving Mathematical problems.

(C) Verifying the  results of
Mathematical generalizations.

(D) Mathematical estimation and

verification of proofs.

orid.In

117. Which of the following is not an example
of enrichment programme for a student

of Mathematics ?

(A) 621449 QaaQyl 4ARIIFEQ AR (A) Helping fellow students in solving
Jaleinieg A6 @S problems.

(B) <IdEQ ZIEMISRIOR UEALR aIR (B) Providing opportunities to organize
g6QIcl 622 Mathematical seminars.

C) BdavRg Iy dde AR dgieie (C) Attempting to solve problems of
qeiQyl aeliele aIa G99 608 Q! students within school hours.

(D) Qo dad aIrgl gge @aql (D) Preparation of new teaching aids.
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118. 660 §ieQ @16 9K 6QRAIG 601G™ QIR @

119.

120.

Download Tech Of World App

66T ¢4q Q2KE 1 A 25 6. 6 11 6Q.
6Q YGRN Q6Q | cAINQ 6T QY

e@ee 7

(A) 4240 m
(B) 4440 m
(C) 5100 m
(D) 5340 m

aQI89Q S4ael §a @69 aIg cea agd
ZIQEND 26T ?

(A) AR A gIIR U8 A2IDE 069!

(B) ORI dIR UdRG6R NFIQ
AYMAR A

(C) 69IEN 99° Q9@ FIg 6T Qe

gl gg ao1ael
(D) AP g4 IIIRQ]

P67)19 6996 00 GRITINR RAVTP RELGY
26G 7

(A) Qay ol
(B)  UGT @3QIq UIge gRld 2o

©) aed «del
(D) QéIeQ Q°dl 6

Techofwy

118.

119,

(fi)d
20. Which one of the following is affective

O

WtsApp/Call- 8596976190

A 660 m long train crosses a bridge and a
pole in 1 min 25 sec and 11 sec
respectively. What is the length of the
bridge ?

(A) 4240 m

(B) 4440 m

(C) 5100 m

(D) 5340 m

Which condition is necessary to ensure

objectivity of the test ?

(A)" By
answers.

encouraging descriptive

(B) By adopting subjectivity in scoring
procedure.

(C) By asking questions which have one

and only one answer.

By Iputting guessing questions.

domain in teaching Mathematics ?

(4)

(B) Interested in Solving Mathematical
Problems

(C) Solving Mathematical Problems

Write  the
multiplication

Counting numbers

number after
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(aGsea amig / ENVIRONMENTAL SCIENCE |

(21, 9QT OARFQI 6969 cRETQ adoge
6210R2IN 7

N
(B) 2ASR
(C) SIangl
(D) QIeKl

122. €69 QAINENS QI YE1e 69Q 4I1AQ
¢AQIS 1919 AARAER NIAE AIAR AIRKR
Qg 6R/R ?

(A) €164G-6991Q 6TIE AU AR
(B) S6R-Fi6Ql IR AR AR
(C) SUIFERE fae QR

(D) QUGING, VAR

121. Which of the following does not change

during the melting of ice ?
(A) Density

(B) Volume

(C) Temperature

(D) Phase

122. Which Act passed by British Parliament
in 1919 did become Government of India
Act ?

(A) Montagu - Chemsford Reforms Act
(B) Morley - Minto Reforms Act
(C) Cabinet Mission Act

(D) Rowlatt Act

Techofworld.In

123. QIOGER 6QQ QY AL AP IGe A
c2IQeUMI ?

(A) AR
(B) @
© g
(D) @al

124. 210 21D CAIFAER @€ FQIdel 9 ?

(A) dquicne ARF RGNS
L(/B)/ﬂmmaea A6 28 QLIRS
(C) @eRIRg IB6R

\

(D) Q& F!

123. With which crop was the green revolution
started in India ?

(A) Rice

(B) Wheat

(C) - Sugar cane
(D) Cotton

124. What should be done when fingers are
burnt ?

(A) To apply Aloe vera lotion
(B) To dip the wound in cold water
(C) To bandage the wound

(D) To pour ink

———
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125. Q1919 8 dA48 €80ER AANAINS 125. In the statistical analysis of quantitative

g6984l QI8 62 AQAWINAS research in teaching-learning processes in
FEAACIER ERNTA TIARD! T6S RIF ? education, which of the following is not
required ?
(A) QF aquea (A) Intelligence test
(B) d94 QUAQY QQI8E (B) Learning achievement test
yn@@@ aQIE q (C) Physical test
(D) 6906 @55 (D) None of the above

126. SIS RAYIAR QIQI 6796 G @AM ? | 126. Which one is determined by the

placement evaluation ?

(A)_IIES geease eeia (A) Entry behaviour of pupils
(B) <dgIea 2g dFiQ AR \ (B) Minor learning difficulties of pupils
() daigicq adiene QIdiege! (C) Overall achievement of pupils
(D) JLISQ UGS ATIQ AU (D) Major learning deficiency of pupils

Techofworld.In

127. GERIREA GIAA@ 2QRIER 699 QSIFRQ | 127. Which vitamin is required during the

dIdIel aig ? early stage of pregnancy ?
(A) aigife (A) Thiamine
M <de (B) Folic acid
(C) 2 9de ; (C) Ascorbic acid
(D) Q{adR (D) Niacin
128. 10919 AFMINQ Qg0 &9 ? 128. Who is the protector of Indian
Constitution ?
(A) Qugad (A) President
(B) 6RISAG (B) Lok Sabha
(C) QUMW (C) Rajya Sabha
\(D)/Q‘Sém AR (D) Supreme Court

—eee N
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not a

129 REIS ARig 6Q0¢ <@ 4gede aviq 129. Which one of the following 15

qee ? greenhouse gas ?

(A) TeTe@Iq (A) Carbon dioxide

(B) GeIR, (B) Ozone
\-Q/E’JIQG‘Q " (C) Argon

(D) fieaR, (D) Methane

130. 6960 QIUIQIER QA 696 YLIQ 27°C 130. At what temperature, velocity of sound

fmie QRS 629 7 will be double of its value at ?7"(: ?
(A) 34°C (A) 54°C

(B) 600°C (B) 600°C

Q) 927°C C) 927°C

(D) 1200°C (D) 1200°C

Techofwprld.In

131. QIgER IR 9LHLQ B8R e 6686a15N | 131. A block of body weighs 15 N in spring

couanl 6@6e didca e'a Bee 12N balance in air and its weight in water
couied | 9% aldie Qigel 1 gm/cc €9, shows 12 N. If the density of water is
QgEaa 21608 gQQ 6966 629 7 1 gm/cc, what is the specific gravity of

the block ?

(A) 0.8 (A) 08
(B) 0.25 (B) 0.25

5

© % © %
) B (D) 5
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132. 6QITN QIR 99 AARCHUS TLEn ‘A’ Q
‘B’ 9942 20 km/hr 69660 gRl 9e° ‘B
Q ‘A’ 9948 30 km/hr 69668 6TGRI |
QM8 QIGIER AINTR VIALIG 696 6aeo
26e ?

(A) km/hr
(B) 24 km/hr

(C) 22.5 km/hr

(D) 264 km/hr

133. QIR JRER ML ALILS AN QI
I QY ?

(A) |19
(B) &g

_(©) a9 ag 6 dee

(D) NI

8

134. QIQ6Q A QININS!I A°gIfl 6Q69
61R2ARI ?

(A) 1757
M7
(C) 1919
(D) 1942

135. 69 UAG6 U66Qd FRIQ gads 4dIQIRa
2GS 6L ?

Mams& 08 SR
(B) QI QIR
(C) 6oRGeR QIdign
(D) 669 609GQ IR

Join Us-

TechofWorT)d.In

132. A vehicle moves along a straight path
from “A’ to ‘B’ at a speed of 20 km/hr
and returns from ‘B’ to ‘A" at a speed of
30 km/hr. The average speed of the

vehicle during the total journey is :
(A) 25 km/hr

(B) 24 km/hr

(C) 225 km/hr

(D) 26.4 km/hr

133. To whom a teaching aid in the teaching
of Geography is meant ?

(A) Student
(B) Teacher
(C) Both Student and Teacher

School

134. When did the first struggle for Indian
Independence take place ?

(A) 1757
(B) 1857
(C) 1919
(D) 1942

135. Which is not included under exhibition

mediated environment science teaching ?
(A) Drawing diagrams on blackboard
(B) Use of charts

(C) Television programme

(D) Use of tape recorder
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36, VINCR VNG Qig cogs Ong
‘ ' 29

(A) RIS
(B) @I% B g
(C) Qe

(D) BAI9R g6

137. QIRYISRIER &Y 696 Q0T adiced Bagca
IR QIR ?

(A) 91962 6 QIde
(B) 4dIFIFS G 6o

(C) 6uloe 6 Arede

\wﬂa@@ 8 ARG

SET - | A

136. Where is located the Northern most part

of India ?

(A) Ladakh

(B) Jammu & Kashmir
(C) Punjab

(D) Himachal Pradesh

137. Which two environments are learnt by

child during childhood ?
(A) Natural & Social
(B) Social & Physical
(C) Physical & Cultural

(D) Cultural & Social

Techofworld.In

138. 69916 2IQY F6RIT OIg 2R, ?
(A) 2IQ
(B) SReR
© 9@
(D) QPR

139, Bgea daIAIRAS F669 g8 G 6q4IC
QAER FRIFER FEER 2°8 G688 §2S 7

(A) €19 694
(B) Qlael
(C) Qoexi@

(D) Q9&ael

138. Which one is different from other three ?
(A) Potato
(B) Sweet Potato
(C) Radish

(D) Carrot

139. Which of the following characters is not

a part of education through computers ?
(A) speed

(B) accuracy

(C) storage

(D) intelligence

——
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140. SNIRA IRANEH AIEAE O6G 2RARE
@R QIS 6 PRRIY FUER TILRY AR NIES
AR R AN 6919 6gaNa Ang

Suiehg dae Fedd caem | O8Ga 606

AQUIREIT OR ?
(A) GYERVE T YRR
(B) §99S QA QY AKUK ALLAIY

(C)_£98a adycead aaeaea
(D) QI8 ARG QIS

141. 9IQQQ QAI9 JRNIFE 629 6QId
c2IQalg ?

(A) saig!
M‘E‘HOI
(C) a9Ia Q9IR
(D) &69eQ

142. QINGEI SETIER 609 98 QUL 84 ?
(A 92
B) &da \
(C) €&
(D) 9198

143. gI2ie 906 9F2/Q A8IRIR FM6e 689

QRGT 2 QUEAISN 26T ?
A) Adieead

Techofworl(c[].
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140. Teacher instructed all the students of a
class to study the difference between
weather and climate separately in the
school compound. Which is a correct

concept of the procedure ?

(A) Limited period of observation

(B) Easier for the teacher to investigate

the work
(C) Possibility of daily observation

(D) Eradication of misconception

141. Which disease is caused due to mercury
poisoning ?
(A) Pellagra
(B) Minamata
(C) Ttai-itai-
Rickets
In
. Which-energy is used in sailing boats ?
(A) Tidal -7 ——
(B) Solar
(C) Bio
(D) Thermal

143. Which method is most useful for teaching

history at primary level ?
(A) Observation
(B) Demonstration

(C) Story-telling

(D)

Project
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aANGER GORI 6aQEd o
(A) Q73

(B) QI 74
(C) e 326
D) IRl 32

145. QIREAQ NMLSN 2°g 6ead 7

(A) QIS
(B) ¢IQ\R1
(C) <L}

v (D) S891]

146. 690 FIPR YOR AN
gaeiq goIQare ?

(A) 6@
(C) MeeIaee!

(D) <gFI0!

147. B9AgE FIQ 6RANINER AEA.R
Qe ?
G N, @@ CO () NO*
(iv) CN-

(A) () 9@ (i)

(B) (i) <" (iif)

(C) (i), (i) 99" (iii)
- (D) QAFZER

Q°ail

144. Which article of Indian Constitution
indicates about an Election Commission 7

(A) Article 73
(B) Article 74
(C) Article 326
(D) Article 324

145. Which is the longest part of the alimentary

canal ?

(A) Stomach

(B) Oesophagus
(C) Large intestine

Small intestine

46. Which standardlsed method indicates the
consmtenc_\ of test scores in evaluation

Teghofworld.In

process ?

(A) Validity
(B) Reliability
(C) Usability
(D) Objectivity

147. Out of the following which are
isoelectronic in nature ?

@ N, (i)
(ivi CN~-

(A) (i) and (i)
(B) (ii) and (iii)
(©) (i), (ii) and (iii)
(D) Al

CO (i) NO*
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148. 609 21991 QI Q100 I 694,
Q94 ?

L d 'l(‘ ~
(A) /6; E

Techofvy

149. .Q°QQ19 AQARIQEQ 6@L ARG F&q
QYA V2! AIYER VDI Q98 ?

(A) Qa9
(B) QIKART

S} —cRieaal

(D) 6998 SRS

150. YRUIGR LSRG 699 GHIY LULIER ?

o

(B) Q198 eyIq
(C) IAGE
(D) Q4R

WtsApp/Call- 8596976190

148. Which meridian is very important for

India ?

"
76— E
(A) 765

Ir.
82— E
(B) 827

10
86— E
© 863

(D) 92 l E

orld.In

149. To whom are the Union Council of

Ministers accountable for wvarious

functions in the Parliamentary form of

Government ?
(A) President

(B) Prime Minister
(C) Lok Sabha
(D) People of the country

150. Which gas is released from landfill
wastes ?

(A) Methane
(B) Natural gas
(C) LPG

(D) CNG
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